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And they are (both) needed - 99X

OVERVIEW

The %713 explained that it was necessary for the n1°1wn to teach us the rule of 771310
(P19 W) both here in our Mmwn (regarding 721w 1?1271 from an individual) and
also in the other mawn (by 1xn np? regarding a 0°27), because we could not derive
one from the other. Our Mdo1n explains why there were not two NIwn regarding
WY PI, just as there are two Nvawn regarding np1?R 171310

nvoIN asks:
= 15595 2359 1) W92 YINN ON)

And if you will say; let there also be two n11w» regarding an heir?

MB0IN answers:
$ Y92 2990 NI NIV 1OYNRYUNT 99D YN

And one can say; that we were already informed regarding a np' that there is
no difference between a 7°1° and a 2°27, so it is self-understood that the same
ruling applies to a @9 that there is no difference between a 7 and a 0°21.

SUMMARY
We cannot derive the rules (of m?19 w7°) one from the other, but once we know
the rule exists by both, we can derive the details one from the other.

THINKING IT OVER

How can we understand the difference between the question in md0I1n (that WY
should require two teachings [and we cannot derive it from np17]), and the answer
of MooIn that we can derive it from nY% so there is no need for two teachings by
v also?

!'Tt was necessary for the n11wn to teach us two types of np127 17w, one regarding a 71> and the other regarding a
o' (see ‘Overview’), the same should be regarding w1v% 11w that the 7awn should teach us this rule specifically
regarding a 71" and a 027, since we cannot derive one from the other. [See previous w1 71"7 '01n (TIE footnote # 6)
that we cannot derive w9 and n? from each other. Therefore it is seemingly not sufficient that the ruling was
taught by npY?; it should be taught by w11 as well.]

2 Granted that we could not derive w17 from np1» (see footnote # 1); however that is if the rule of 7w would be
taught only by n? and not by w1, However once P is taught both by w7 and i (indicating that the same
rule applies by both of them), so once we know that by np¥? there is no difference between 0°211 711, the same will
apply by w7 as well. [We cannot derive the rule one from the other, but once we know the rule we can derive the
details one from the other.]
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